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2.

V30—a=2V7 &, a9 2?

Do @1 @2 @ 3

V30 —a =27 = V28 °|BE& 4 = 2 o]t}




® 4-2v2




() Va2 & |e g
L) AFE[ JE=7olth
© AFE 100 2] ]oltt,

D (1) 16 (L) 49 (£) £10 @ ()4 (L) 49 (&) £10
@40 1960 10 @ ()-4()7(0) -10
® ()4()49 ) -10

B

() V& = 16 9 FO] AL = 4
L) ABZ49 =49 & F AFZL = 7
() AE 100 = 100 ] Fo] AT = 10




5.

rd
filo
S
i)
R
nst
£
Q

-

VBT ] 0] ABL a, (1) o] &) AF
o gre?

© -7 @ -1 ® 1 @7 ® 13

VB1 =9 o] AlFE
(-4)%2 =16 & AF
sa—b=3-(-4)




6.

ol A Algol fel4ed AL BE 12 AL
S 12 © - © 04
% .
® 0.049 @ ® 001
® ©.0 @ @@ ® ©.6.0
@o.0.0 6 0.6.@

B

3)2_9 (2)2_4_ . y

(5 =505 _9_0.4,(0.1) =0.01

Y oz Agae s o] Hlo Ralsold,
1000 1010

2 ©,©, @ °lH.

0.049 =




&% VBT VT Aole] gk Ralbe

V3+ V7
2

D V3+2 @ 243 (@)
@ 4 ® Vi-3

1<V3<2=3<V3+2<4




&% V5 ek 3 Atole] Fal
V2 = 1.414, V5 =2.236 °]t}.)

@) \/5;3 © V5+ V2 © V5+0.1
125 3-15

® 20 @ 5 @ V5+0.9

® V75 @3_§

06660 @06060 00600
©0©606 068600

~&B

Vb<x<3—2236<x<3¢ ‘27’
© V5 + V2 =12236+1.414 =3.65 > 3

o VE_\[E_\Z_isassteun

- 764
3 \/5:076<\/5

®@— 2
® V5+0.9=2236+09=3.136 > 3




9. a<09% W Vi@ - \/(3a)° + (Vv 5a)? < 7heka] ohul?

@ -10a @ —Ta (@)—4a @ 2a ® 3a

B

Via? - \/(=3a)? + (V=5a)?

= /(2a)2 = \/(=3a)? + (V=5a)?

—2a — (-3a) + (—5a)

a<0°2Z 24 <0,-3a > 0,-5a > 0)
—2a+ 3a —5a = —4a




10.

O 22 4 3xy - 27, 4x° 45y +ay? 2] &Y
A o, &4 a, b ol ste] a-b o] & FoHH?

A7} x + by

2x% 4+ 3xy — 2y% = (2x —y)(x + 2y)
T5A ;7L x+ by O|BER b =2

4x? +5xy+ay2 = (x+ 2y)(4x + cy) of| A
8+c=5,¢c=-3

a=2c=-6

~a—-b=-8




11.

(x+4)2-2(x+4)- 159 x9] Al7H1 Q1+

2o o), F aA4e] e

@2x+6 @ 2x-6
@ x*+6 ® 6

QAo Fo

® 2x+8

o
hi)

B

x+4— 18 A5sE

2-2t-15=(t-5)(t+3)
=(x+4-5)(x+4+3)
=x-1Dx+T7)

Sx-1)+(x+7)=2x+6




12. 4 -8a-9b +16 & JA-E3|5HH?

@(a+3b—4)(u—3b—4)
® (a+3b+4)(a+3b-4)

® (a+3b+4)(a—3b+4)

@ (a+3b+4)(a—3b-4)
@ (a-3b-4)?

/U)

>

a® — 8a + 16 — 9b?
a—4)% - (3b)?

i

(
= (
= (

a+3b-4)(a-3b-4)




13. offiet g2 Al 9] & BAE T2 2 UERH?

a=4,b=5-V2,c= 17

D a<b<c @b<a<c ® c<a<b

@ b<c<a ® a<c<b

B

(a=4

(2) b ] 9
—Vi<-V2<-+1
5-Vi<5-V2<5-+1
L 3<5-1V2<4
(3)c o] HY

V16 < V17 < V25

L 4<\17<5

L b<a<c
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14. Vx=a-29 W, Vx—4da+12- Vx +2a-3 & 7t

2<a<4)
@-2a+5 @ 2a-5 ® 5
@ —2a-3 ® -2a+3

B *
Vix=a-29 FHS AFotH x=d’-4a+4

Va2 —8a+ 16 — Va2 —2a + 1

= /(@a-4)2- /(a-1)?

=la—-4|—la-1]

=-a+4-a+1=-2a+5
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@ 47rdel 9 % glnt @ o5z
B)/A L A7 AZGRE @ B 7} A7) A2

b3 + b%c + be? — a®b + ¢ - a’c
=b%(b+c)+ b(c? —a®) + c(c? - a?)
=b%(b+c)+ (b+c)(c? —a?)
=b+c) (b +c2-d*)=0

b, = 7o) o] Loo|nz Folet,
o2t b2 + 2 —a? =0, b% + 2 =a?

/A 7} AZrel A ZPAFZFS o]t}

b i B = |




